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yoli=)l )7 Order of the elements

The order of elements in the modern periodic table is R VPR |
based on an element’s.....................

name =3 O
atomic number W O
chemical symbol S 3t O

atomic mass el saalt O
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yolisll w7 Order of the elements

The order of elements in the modern periodic table is TP | R v e Al Eyaall (6 al) J_,.hjl, 3 walindl o
based on an element’s.....................
name pestd O
atomic number i O
chemical symbol ot 33 O

atomic mass G salt O
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Question 2 -
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Which number represents inner transition metals in the Jssall ol AR i 3 QAL LT S S 2 3 b

diagram of periodic table of elements shown below?

 yaliall 90

Si
Ni 4

N —.gl
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Which number represents inner transition metals in the il ol JIBilh a8 AAELN LRI SR Sy I BN b

diagram of periodic table of elements shown below?
£ yatiall (5920

Si




Which element similar in chemical properties to the fie ) il A jaic Auliasll jalsdl) (P AL alc T

element have the electron configuration?

[He] 2s? 2p°

An element located in block S S panall A ais (M juaic O
An element located in period 2 2 59l G Ak (g jeale O
An element located in block p P pasall 8 ads U jeaie O
An element located in group 17 17 degasall 3 ads (53 jeaic O
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Question 3

Which element similar in chemical properties to the

e gAY Qi Al sl dailiasll alsdll (B Al e gl
element have the electron configuration?

[He] 2s% 2p°

An element located in block S S pandl b ay U juaic

An element located in period 2 2 5yeall G aks (G jyeaie

An element located in block p

P aadl b e g yalic

An element located in group 17

O O O O
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Question 4

Which block that element have the electron T AN g ASIY) Qi 93 puadel) 48 ads (A pada (ol

configuration is located in it?

[Ar] 4s? 3d!

Block f f aanadl
Block S S pandl
Block d d aandl

Block p P aanal

© O O O
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Which block that element have the electron T AN g ASIY) Qi 93 puadel) 48 ads (A pada (ol

configuration is located in it?

[Ar] 4s? 3d!

Block f f aanadl
Block S S pandl
Block d d aandl

Block p P aasall

© O O O
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Question 5 ol

What is the number of valence electrons ol Aigall 48 ganall salis q!‘ AalsE A0 B Sl Eh % L
in the elements of the group shown down?

greup 17

i

17 O
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Question 5 ol

What is the number of valence electrons ol Aigall 48 ganall salis q!‘ AalsE A0 B Sl Eh % L
in the elements of the group shown down?

greup 17

i

17 O
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Which electron configuration represents the highest first ) i 1 Bl gy S s
ionization energy?
[He]2s? 2p* 0
[He2s' O
[He]2s* 2p" O

Hel2s* 2p* @
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Which electron configuration represents the highest first ) i 1 Bl gy S s
ionization energy?
[He]2s? 2p* 0
[He2s' O
[He]2s* 2p" 0

Hel2s* 2p* @
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Question 7

Why atomic radius generally increases as move down a group? tisgana ol A QALY JEDYY sie 00 U Gl S5 1l
9 o e e o
» 3 7l o=~ [~ ]
F 9‘ o I - o - - - e ?
= u wrisew [0 mlc nle nle njv e n
N 2 © |o|e|ee oo
o
8 -‘.l..‘. NI BP0 N
E =} : 010 @ o e o|e|e
—: . l)lliu-r Cath e MU0 W oW
B s ©O oleoloo e
E' 6'3 :hubn:ﬂ;mhw
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*” g f‘Tm EEICEI I C RIS
g ‘'©0 0000600
S
Because the principal energy level remains the same Sl e UM rian el s
Because the valence electrons are farther from the nucleus Byl e gISAN iy S day Sl s
Because the decreasing positive charge in the nucleus Byl dad ol G

Because the valence electrons are closer to the nucleus

Byl Gpa gHSEN Sy SSH G S G
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Question 7 i

Why atomic radius generally increases as move down a group? tas gana st A JALY UV xe L Y Giladl Jap 1
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Because the principal energy level remains the same il oyl Al (Grian My iieas O
Because the valence electrons are farther from the nucleus Byl e SIS iy pSH S Sl Casa @)
Because the decreasing positive charge in the nucleus Byl dad Hleali g (9
Because the valence electrons are closer to the nucleus Byl e ST g S jh 2La) Caneas O

Answer:
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Question 8 -

Which af the following diagrame correctly ahows tha trend of g A Gl tlh Aglledh £ o g BT Slldadat] ,.a
electronegativity 7
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Question 8 -
Which of tha following diagrams cormectly shows the trend of e oy gl il £ S 00N Sl gl
electronegativity?
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Question 9

The orbital notation of Magnesium is shown in the figure colial JSEN A ok posenihall SUEH Gaq 530
below. How does Magnesium form its ion? 4y Lalll) el . Sl ey i

LT T T (T
1s 2s 2p 3s

Lose four electrons calig pSl 4 xaa O

Gain one electron aaly g fS Sy O
Gain two electrons Oy RSl Sy O
Lose two electrons g RSN SRy O
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Question 9

The orbital notation of Magnesium is shown in the figure colial JSEN A ok posenihall SUEH Gaq 530
below. How does Magnesium form its ion? 4y Lalll) el . Sl ey i

LT T T (T
1s 2s 2p 3s

Lose four electrons g Kl 4 X O

Gain one electron ENPRSTS - U S O
Gain two electrons g RSN Sy O
Lose two electrons g RSN SRy O
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Question 10 ey

electron configuration of phosphorus atom is: 1s?2s?2p%3s23p? 1522s22p®3s23p? 1 oa ) ghensill 5,1 gAY a2
when phosphorus atom gains 3 electrons, ¢ P37 gl Oad g8 g 3 ) shugill 5 e Latic

- - 3_ -
phosphide ion P*" is formed ¢ P ol 9 ALY i L

what is the electron configuration of P~ 2
15?2s?2p®3s?
1s?2s?2p®3s?3p%

1522522p%3s23p*4S?

O O O O

15?2s22p*3523p?
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Question 10 ey

electron configuration of phosphorus atom is: 1s?2s?2p%3s23p? 15%2522p%3s23p® 1 ga ) ghuansill B2 g Y )
when phosphorus atom gains 3 electrons, ¢ P37 gl Oad g8 g 3 ) shugill 5 e Latic

- - 3_ -
phosphide ion P*" is formed ¢ P ol 9 ALY i L

what is the electron configuration of P~ 2
15?2s?2p®3s?
1s?2s?2p®3s?3p%

1522522p%3s23p*4S?

O O O O

15?2s22p*3523p?
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Question | |

What is the formula for a compound formed by O O35 S A Lo

aluminum ions, Al**, and the phosphate ion, PO, 7 i
’ PRosP &\’ ¢ PO, il O galy APT asaial¥) 0 g

Al P20y
Al POy

Al;POy

O O O O

Al3(PO4)




.
f.-"i UNITED ARAB EMIRATES

|ii; 15: MINISTRY OF EDUCATION
Pz |

—

Question | |

What is the formula for a compound formed by O O35 S A Lo

alumi ions, AI**, and the phosphate ion, PO, 7 i
s ’ PRosP &\’ ¢ PO, il O galy APT asaial¥) 0 g

Al P20y
Al POy

Al;POy

O O O O

Al3(PO4)




UNITED ARAB EMIRATES
;.511" MINISTRY OF EDUCATION @
ey t' I 2 L TP TP
. A - . — ¢ Gaa Ca gs A Alally dglaall 3 Aed) Glgall il 1
Why Ionic compounds in solution and in the liquid state shigsl Blas il &ty @ sl GLoAl s
are excellent conductors of electricity?
Because attractive forces available el (Ol oF B8 e O
Because motion of charged particles are locked Bgadal ligall A A8 G O
Because no charged particles available Ripate cilije 5 pte i O
Because freely moving charged particles Aigadall wiliiall A5l e O
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Question 12

[ = - 314 ] 2. 8 - - L =
Why Ionic compounds in solution and in the liquid state Fologsl Bias COlage Alilull Alally dytaall (o 3001 Gl i 1Bl

are excellent conductors of electricity?

Because atiractive forces available Ul il 5 38 s 0
Because motion of charged particles are locked Apadall liall A a8 0
Because no charged particles available Agate cillila J95 st e 0
Because freely moving charged particles Lyt il SRl A e 0
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Question 13

Which of the following names does NOT match the Paalel Lugagal) Auileais!l Ads.all e ikl ¥ ol Laa awid l,‘g'i
chemical formula written in front of it?

Sodium hydroxide NaOH NaOH 530 3all 2085 308
Ammonium sulfide (NHg4)S (NH4):S a 53 gatfl 2y €
Calcium chloride  CaCly CaCl; pgmdlsll 0 5518
Sodium bromide = NaBrO; NaBrO;  apdsall dag 5

O O O O



Question 13

Which of the following names does NOT match the Paalel Lugagal) Auileais!l Ads.all e ikl ¥ ol Laa awid l,‘g'i
chemical formula written in front of it?

Sodium hydroxide NaOH NaOH p 30 5all 208 5 08 O
Ammonium sulfide (NH4):S (NH),S a 53 gatfl 2y € O
Calcium chloride  CaCly CaCl; pgmdlsll 0 5518 O
Sodium bromide = NaBrO; NaBrO;  apdsall dag 5 .O

Answer:
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Question 14

Which statement is true of the table shown down?

Colial (J gandla Blals Lead Aaaa 2000 clluadt (4f

Bond-Dissociation energy i)l Ji8& 43l | Bond length aabill Jyla | Molecule q giall
159 kJ/mol 1,43x 107 1%m F,
498 kJ/mol 1,21% 107 1%m o,
945 kJjmol 1,10X 10~ *°m N,

As bond length decreases the bond dissociation energy decrease

Single bond is the shortest and have the less bond dissociation energy

As bond length increases the bond dissociation energy increases

Triple bond is the shortest and have the high bond dissociation energy

alaslyll SIS Ails ol LalS Aoyl Jpla (15 LalS
A<k 2l B lgly puadl) (b AolaY) )

alagll €8 38 oy LIS Ayl Jola o5 LS

Qs Al ol Agly sual) o D Al

O O O O



f. ‘ UMNITED ARAB EMIRATES o
Y AN ISTRY OF EDUCATION E :
i:.-jr t‘l:i MINISTRY OF EDUCATIO Qu Stl I 4

Which statement is true of the table shown down?

Oolial (Jgandla Blals Lesd Aaaa 2000 clhluadt (4f

Bond-Dissociation energy il J5& 43l | Bond length adal)ll Jyla | Molecule ¢ giall
159 kJd/mol 1,43 1071%m Fs
498 kd/mol 1,21% 1071%m o,
945 kJjmol 1,10X 10~ *°m N,

As bond length decreases the bond dissociation energy decrease

Single bond is the shortest and have the less bond dissociation energy

As bond length increases the bond dissociation energy increases

Triple bond is the shortest and have the high bond dissociation energy

Answer:

Ve

alahll S 33Us i Ll Adagl 1 Jala (6 LalS
Sz 7tk (B gly sl b Aala¥) 2
Aol 8 s caaly WS adadll Jpka ol Lals

Q< 2l Lol Lly puali) o SN 3L

O O O O
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How many sigma bonds (§) and pi bonds (rr) are in ethene £S5 Ahma B Bagasall (T ) (gh dulyys ( 6) L dadly) s s

molecule C,H, structure shown down? eolial it G,H, g*u‘:_ﬂ

4 sigma and 1pi Sblgilensed

5 sigma and 2pi L2 laasnd

4 sigma and 2pi b2y clenca d

5 sigma and 1pi b lsilenas
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How many sigma bonds (§) and pi bonds (rr) are in ethene £S5 Aia u.a Bagagall (1T ) sludadgyg ((6) Ladsws Jaslg) aae a8

molecule C,H, structure shown down? eolial it G,H, g,‘n.u‘:_ﬂ

4 sigma and 1pi bl ilanaa g

5 sigma and 2pi L2 laasnd

4 sigma and 2pi b2y clenca d

5 sigma and 1pi b lsilenas

Answer:

B
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Question 16

Which of the following elements does NOT exists as a 5l g,.‘lh".{ s bgea A6 dalgi Y QLN bl e gﬁ

diatomic molecule?

Nitrogen
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Question 16 :

Which of the following elements does NOT exists as a 5l g,.‘lh".{ s bgea A6 dalgi Y QLN bl e gﬁ

diatomic molecule?

Nitrogen

Answer:




Which is the incorrect name of the chemical formula
written in front of it?

CCl,: Carbon tetrachloride

Si0,: Silicon dioxide

N,H,: Dinitrogen tetrahydride

P,0;: Penta phosphide dioxide

o)
Question 17

aalal digiCall duileassll dinall maaall & i La

OS24, &y CCly

. J oSl s Si0
el L) 2

Oxxg il (AU 2pue 2l 1 NH,

Oy (Sl ks Guald 1 P05




written in front of it?

CCl,: Carbon tetrachloride

Si0,: Silicon dioxide

N,H,: Dinitrogen tetrahydride

P,0;: Penta phosphide dioxide

o)
Question 17

Which is the incorrect name of the chemical formula

Answer:

aalal digiCall duileassll dinall maaall & i La

OS24, &y CCly

. J oSl s Si0
el L) 2

Oxxg il (AU 2pue 2l 1 NH,

Oy (Sl ks Guald 1 P05
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Question 18 :

Which is the correct chemical formula felly) gl aaa i A Aasaall Alash disall e

represents chloric acid?

HCIO;

HCI

HOCI

O O O O

HCIO,
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Question |18

Which is the correct chemical formula felly) gl aaa i A Aasaall Alash disall e

represents chloric acid?

HCIO;

HCI

HOCI

O O O O

HCIO,

Answer:
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Which of the following is the correct Lewis dot structure for T NH," fasisad) O Gyl 4l ruaall aull g6 ot baa $

ammonium ion NH;*?

(1= Saagsaglly 5= Juag anll KN Sliy pdl) o)

{Numher of valence electrons of nitrogen=5 , and hydrogen=]}
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Question 19

Which of the following is the correct Lewis dot structure for T NH," taisad) G Gl gl all pepll 34 ,S,.L. [ l‘;l

ammonium ion NH;*

(1= Gangsnelly 5= Cang Asll JUSH by 58 sxc)

{Numher of valence electrons of nitrogen=5 , and hydmgen=l}
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Which of the following is excepted from the octet

rule because odd number of valence electrons?

H:B:H
H

LR ]

:Cl: ;é'lz
Cl-"P L

Question 20

A jaal
dl.j|{llgl.||

Sl 5B e Al A0 5

RGN Sl ST G g4d A6 3ag e




ﬂ{" I:-:. II"l
iy By

I )
*._“_u-‘

UNITED ARAB EMIRATES

MIMNISTRY OF EDUCATION

A jaal
dl.j|{llgl.||

Question 20

Which of the following is excepted from the octet Sl 5B e il A0 e ,j

rule because odd number of valence electrons?
RGN Sl ST G g4d A6 3ag e

H:E:H O
H

Cl: Ol
-C\ ..-""Cl

-

:Cl_" P .-‘El' O

-







